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A successful teacher is one who 1s
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Options :

Compassionate and disciplinarian.

QFHcho, ERdgmnies
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Quuite and reactive.
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Tolerant and dominating.
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Passive and active.
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As per modern concept of teaching/learning process which of the following statements is most
appropriate?

Options
Teachers can teach students to gain knowledge.
DO PRERD eargrdines FPhosHow.
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Teachers help can create in a student a desire to leam.
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Lecture Method can be used for developing thinking.
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Teachers are born as teaching is an art.
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If majority of students i your class are slow in gra sp'mg as a teacher you should
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Options :

Not care about the intelligent students

(DepSotBs durhem HEoHE D
6824702409. = x

Keep your speed of teaching fast so that students comprehension level may mncrease

Do OSPFREand 203 Qefore D TG IE) Lo.
6824702410. '

Keep your teaching slow
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Keep your teaching slow along with some extra guidance to bright pupils
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If a student in your class stutters as a teacher you should
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6824702413.



Help him/her by supplying the words he/she wants to say.
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Have him take part in all the oral activities of the class.

SBrac® TS oo edd® PSR SrR
6824702414. 2 '

Give him word drill on the words on which he stutters.

S8 HOT Do PSS Jonard
6824702415.

Provide situations in which his/her sense of self worth is buult up.
S5 dh e Dofrolod B SO Se 5D \P.
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A teacher’s major contribution towards the self-realization of the student is affected through:
w'ﬂ S ) HOPPHED B obossod® ST 50 Adore FHirddo 3808,

Options:

Constant fulfillment of the students’ needs

DTl wadTre Jdosdo e.-ac‘ﬁ o
6824702417. e

Strict control of class-room activities

B8N& FTeemn SElorr AdboGodto
6824702418.

6824702419.



Sensitivity to students’ needs, goals and purposes
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Strict reinforcement of academic standards
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Which of the following is not a characteristic of scientific research?
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Options:
Empirical
WOPHE
6824702421.
Theoretical
TFO&E
6824702422. i
Experimental
DEFrE)S
6824702423.
Popular belief
Reetes Brolin N0
6824702424.
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Research can be classified as:

-
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Options:
Basic. Applied and Action Research
FEDS, ©DH0E HCAW SorEE 50385
6824702425.
Quantitative and Qualitative Research
BOSrerd)s S0 rherd)s B0 e
6824702426.
Philosophical, Historical, Survey and Experimental Research
Z&S, SOEeE)S, K07 SOdn BErrE)s 808 EHen
6824702427. =
All the above
25
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A research paper

H0SE ST TR0 ORI
Options :

1s a compilation of information on a topic.

2.5 ©drR8 Sonofods Jaroed Sodedo
6824702429.

cmltaim original 1‘esem‘ch as deemed by the author.
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contains peer-reviewed original research or evaluation of research conducted by others.

—oﬂcﬁ:] HOTEEND Konofods vowe B5 a8%e $0SGoTe RFT05I0
6824702431.

can be published in more than one journal.
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Selection or manipulﬂtiou of variables 1s always a part of
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Historical research

TO@E)S HOIGS
6824702433. =

Fundamental research

6824702434, T PRRE S

Descriptive research
IJPEE & JoL=ilaty
6824702435.

Experimental research

BAFrEE HOTED
6824702436.
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Which technique is generally followed in sampling when the population is finite?
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Options :

Area Sampling Technique

Doate (HBIADSO
6824702437.

Purposive Sampling Technique

ks CirypleyiciEsiinlostinle
6824702438. 5

6824702439.



Systematic Sampling Technique

(S0I:N (DE&SADRo
Quota sampling
BPér (B850
6824702440.
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Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 fto 15:

There is arise of terrorist activities in different parts of the world. The terrorists believe in the power of the
gun and want to achieve their objects overnight. While some of these groups are fighting for control over
some pieces of land. others are fighting for spreading their own ideology or religious philosophies. They
choose to defy public opinion and refuse to see the reason. They think that their own view point or stand
is the only right view point or stand. and that they have a right to convert other people to their thinking by
force. For this avowed purpose they do not hesitate to commit the worst of crimes including murder of
innocent citizens, looting or burning property, kidnapping people, hijacking planes and creating terror in
one way or the other.

A group of Al- Qaeda terrorists. guided and supported by the Taliban leader Osama Bin Laden based in
Afghanistan. struck terror in the USA in a big way. They hijacked four US planes from some US civilian
airports. While one of these planes hit against the US headquarters in Pentagon. another two planes
brought down the towering World Trade Centre. killing at least 5000 innocent US citizens.

USA swung into action and ordered its air force to attack Afghanistan and bring the terrorists to book. In
amassive attack. the Talibans were defeated and destroyed. Similarly America attacked Iraq as President
Saddam Hussain himself appeared to be a big terror. Iraq was badly damaged.
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According to the paragraph. what do the terrorists trust in?
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Options :
Power of barrel
P8 ey 48
6824702441.
Killing mmocent people
@ardDs (Paesd Jodeo
6824702442.
Create violence without a cause
Se8ee0 Bome Pt RoSto
6824702443.
Occupymg some places of other counties
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The terrorists belive in one of the following:
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Honour public opinion
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Challenge public opinion
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Gowith public opinion
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Mould public opmion

Beedi@rairy) S0
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Select the correct answer from the followimng sentences: Terrorists commit crimes of
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Options :
Murder and kidnapping celebrities
Sdngoe P o0 S
6824702449.
Kidnapping politicians. murder of police and beating rich people
28ah ahHen, BVve H&, FISoHO Slale
6824702450.

Murder of mnocent citizens, burning property. kidnapping people and hijacking planes.
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Burning buses and murder of the police
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Who attacked Iraq and why?
TR A5G JothH rd Te?
Options :
US air force attacked Iraq as President Ahmad Hassan 1s an enemy of Americans.
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6824702453.

America attacked Iraq to destroy the country and kill many innocents i Iraq

0= 35D o8& TR, 28ES° oRE Dod LirdhDed SonTh
6824702454,

Pakistan attacked Iraq as Iraq attacked Pakistan more than four times
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America attacked Iraq as President Saddam became a dangerous man.
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Correct Marks : 2 Wrong Marks : 0

Two of the following things are not co-related to the episode of US planes hijacking. Find them out,
& Doth Dactrod® s0m Jirre Trerdol Qs SRS Sirdonotiin Bib. 8D S50k,
L Al Qaeda terrorists
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. World Trade Organization
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Options :
1andin
1500050 m
6824702457.
nandiv
11 35000 1v
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vandvi
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11 and vi
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Find out which one of the following elements is not important in non-verbal communication?
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Options:
The body language of the speaker
58 TwE) FBS e (zb o)
6824702461.
The eye contact of the speaker
8 T Z0d SIHen
6824702462. = =
The volume of the speaker
58 Twg) rErow
6824702463. j
The facial expressions of the speaker
5§ T sy 385
6824702464.
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Which one of the following contexts refer to the background smularity between the
sender and the receiver?
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Options :
Cultural
Lok &8
6824702465. e
Physical
Setets!
6824702466.
Social
PaITeeRs
6824702467.
Chronological
PRS0
6824702468.
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A teacher should be effective in asking questions. He should ask
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Options :
Thought provoking questions
edfs5Se T380T (P
6824702469. - S
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Meaningful questions
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As many questions as possible
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Confusmg questions
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The term ‘media’ comes from the plural of
‘Sl o3 Ho &3 DF0SSF0 Dod Sk
Options:
Greek Medmm
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6824702473. -
French ...... Media
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Latin....... Medium
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German...... Medium
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Question Number : 20 Question Id : 682470632 Question Type : MCQ Option Shuffling : Yes Is
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Rearrange the following steps n the process of interpersonal communication:
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A Message
Kot

B. Encoding
RS8R

. Recewver
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D. Decoding
&5*of

E. Sender

The right answer according to the code 1s
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6824702477.
5216437
6824702478.
5126347
6824702479. - 126347
5216347
6824702480.
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The mcomes of A and B are in the ratio of 3:4 and their expenditures are i the ratio 4:3.
If B saves one third of his income, the ratio of their savings is
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6824702484.

Question Number : 22 Question Id : 682470634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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‘A’ started a business with Rs. 25.000 and after 4 months B joined him with Rs. 60,000,

‘A’ received Rs. 38.000/- mcluding 10% of the profits as commission for managing the

busimess. What amount did B receive (in Rs.)?
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Options :

25.000
6824702485.
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Question Number : 23 Question Id : 682470635 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Two trams of lengths 700 m and 800 m are running on paralle] tracks towards each other.
What 15 the distance travelled by the two trains together (in meters) from the time they
start to cross each other to the time thus completely cross each other.
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Question Number : 24 Question Id : 682470636 Question Type : MCQ Option Shuffling : Yes Is
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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‘AMOUNT’ 15 coded as ‘ZNLFMG’. Then the code for ‘ORANGE’ 1s
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Options :

LIZMTH
6824702493.

LIZMTF
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LIZMTV
6824702495.

LHZMTF
6824702496.
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Missing group of letters in the following sequence is
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Options :
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STGH
6824702500.
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The missing number 1n the sequence: 5. 13. 25, 41, 61.

0DEN0S SHoDS Hows: 3, 13, 25, 41, 61,

Options :

6824702501. .

6824702502, 59

6824702503. 20

99
6824702504.
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Statements:  All girls are good.

Some women are good
arEianen: @0l ardEen JHowWardD.

N0V FodD Dearen
Conclusions: I. Some women are girls.
II. No women 1s a girl.
S0A0Y): L Fodd arden ardiewn.
II. o) Dars S ardE =N

Options :
I and II are true
10805 I 2P
6824702505.

I1s true and II is false

[ 259 000 IT &5y
6824702506, W ¥



I 1s false and 1T 1s true

5P c0GCID IT 2y
6824702507.

I and II are false

[ Hocsn I e‘ﬁﬁay
6824702508.
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The odd one among the following is

BoOTAS &)

W, o B ;
e 2,5 0T IO E

Options :

=T

[—

68247025009.

6824702510. =<'

6824702511.

—
i

4
6824702512.
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The following Venn diagram represents the number of students opted for various subjects
of skill enhancement courses offered by the three Departments; Mathematics. Physics and
Chemustry. The total number of students 1s

Qe ARV EL RN NN o\ WIR e TndeWIN G RV VWIS IV I W e VI EA R N TSV ToTmToT WY
2R NS D Tz K DosPOAOH FEIOD otHHIN) TN HOYEOD

808 IS Qe AFDOHD. ©oNS JNSain AT HOW?

Options :

6824702513.

183
6824702514.

o
h
]

6824702515.

31
6824702516.
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C 15 the brother of D. A 1s the husband of B. B 1s the mother of C. E 1s the wife of D.
How B is related to E.

C, D 3wy FS&HW. A, B TEy, 2, B, € Bg) 0. E D Bwg) 278z BEE & Ko
RO20

Options :

Mother

?f’?'?i:'
6824702517. =

Father

50O
6824702518. ol

Mother in law

e9ed
6824702519, 5

Father in law
6824702520, o376
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Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information:

.q

HeE: 99160 Q.31 :b0d Q.35 505, 308 Narrdo SO0 dr) o

The total expenditure mcurred by a management training institute in vears 2014-15 1s Rs.
25.0 lakhs and 2015-16 1s Rs. 32.0 Lakhs. The percentage of expenditure incurred in the

two financial years: 2014-15 and 2013-16 are presented in the following table.

2014-156 DB carer 38 e H0Y) ( Management training institute ) G305, B0 H:aH0
&r. 25.0 ©5 €0 005 2015-16 OF. 32.0 ©F 0. Toch 808 D0aeh @“’55 ID)0T FTe0: 2014-

15 508050 2015-16 6 Bod HEES’ DB 00T

S No Expenditure Particulars 2014-15 | 2015-16
ENOROMN IV

1 | Faculty (are59) 250% | 27.0%

2 | Advertising ( (8exden) 200%. | 15.0%

3 | Material preparation (R636cH6 aird) | 100% | 7.0%

4 | Printing (0(569) 250% | 20.0 %
5 | Admumistration (H8zrea) 75% | 8.0%
6 | Salaries (Jebedanen) 50% | 80%
7 | Others ( @eddamen) 7.5% | 15.0%

Sub questions
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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In the two years, total expenditure incurred towards salaries (in lakhs) is

Bod Hoss oo, et TOomd 1 o H:000 @F o)



Options :

6824702521. =77

6824702522, ~

6824702523.

6824702524.
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In the year 2014-15. the total expenditure incurred towards faculty and material

preparation (in lakhs) 1s

2014-15 H05)508, OEFSHod) HOW HEBNS S$0irdE Ho20H0AN Jnso

53000 (@ oS

Options :

75
6824702525,

s
6824702526, -2

6824702527. 805

2.5
6824702528.
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The expenditure increased towards administration m 2015-16 when compared with 2014-
15 15 (in lakhs)

2014-1568 618 20151665 HBFOD § DOAK H:000 (©F )

Options :

I
(%)
e

6824702529.

6824702530.

6824702531.

0.685
6824702532.
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In the two vears. total expenditure incurred towards Advertisement and Administration

(in lakhs) 15

& Both e’ao;’wfﬂagpi’f 1995665 9805 HBFeS (©F ) § 5020800 TS0 H:0H0

Options :

8.55
6824702533.



19.

T

25
6824702534. =

1.235
6824702535. 14.235

4.43
6824702536.
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In 2015-16. the total expenditure incurred towards printing (in lakhs) 1s

2015-16 &, 01569 £ HODOBODS DNBO $:090 (©F S

Options:

6824702537. 8.64

6.40
6824702538.

4.80
6824702539.

-2
_h
ol

6824702540.
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Who invented modern Computer science?

., - - o -
eGOAS SoFel TR S0 da?
ot} — [=%

Options :
Charles Babbage
*0n TS
6824702541.
Allen Tuning
6824702542, ©OTET0OR
Simur Cray
D8
6824702543.
Augusta Adaming
o omdof
6824702544,
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The output quality of a printer 1s measured by

=

208 03¢ HE Tred Fed?

Options :

6824702545.



Dots per square cm

o) $8 'FZ:;E 208568

Dots per sq. inch

ed) 66 ‘5&;5 205

6824702546.

Dots per inch

ooédh 30

O
6824702547, o

(1}

dots per cm

oo 58 Doddes

6824702548. ~
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First page of Website 1s termed as.

DTRET TS ek
Options :

Homepage

3 g
Ff"'r

= =
oY)

=

6824702549.

Index

6824702550.

L1

6824702551.



JAVA script

oL we)
&

Bookmark

6824702552, =
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VOIP stands for..........
VOIP edre
Options:
Virtual old IP

8 StHd IP
6824702553. =

Video over IP

e

monh £.355 IP
6824702554,

Voice over IP

HNE@D® .58 TP
6824702555,

Virtual over IP

SEnHS £.358 IP
6824702556. =
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Which of the followmg is purely Indian higher education portal

Bol &HS® DO vodair NS Doy Y.

Options :

6824702557. NELEL

6824702558. WIZIQ

Openz study
6824702559.

edX
6824702560.
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The Protected areas, National parks, Wila libe Sanctuaries and Biosphere Reserves are the Ex-

amples of...

]

PEah eTRdTe, SErd Sobgn Sore, ddtn Juw Jod 688 (@ome B

&GP



Options :

6824702561.

6824702562.

6824702563.

6824702564.
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Ex-site conservation

o

e éorﬁgee

q\-
=
ot o

In-situ conservation

DN —RED RoBsm

ftd,

Cybemetic Conservation

PondS Jobgm

fartd,

Leibig’s Conservation

OF) Sovgem
e

Gl

Correct Marks : 2 Wrong Marks : 0

Set binding targetsfor mdustrialized Nations to reduce emussions by 5% agamst 1990 levels overa

perioud 0f 2008-2012. This was proposed in

2008-2012 S ecprod 1990 on o8 5 o EowS el ol oS

ol Aodomed D8RG S JrIdod I,

Options :

6824702565.

6824702566.

Rio de Janeiro. Brazil, 1992

oTrdads, @ad, 1992



Stock holm. Sweden. 1972

nﬁ;ETz‘Jﬂrto. S, 1972

B opezﬂlagen._ Denmark. 2009

DBFAT, B, 2009
6824702567.

Kyoto Protocol. Japan. 1997

555 |5 =8, xRS, 1997
o

6824702568.
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In september, 1994 (UN Conference) Some 15.000 leaders and representatives from 179 Na-

tions and nearly 1.000 NGOs met in Cairo. Egypt to discuss the problem related to

1994 'amoao@ DTS Bgod® 179 Gwo 15 Jo dob FahHen, ird Jow

BehB 86 & Roge éna“’% 45 36°¢ IR & 588D S0 10T,
Options :

Poverty and population

26050, wmree
68247025609.

Carbon Emissions

! r5 ﬁmﬂmea
6824702570.

Resource Management

6824702571, Sl



Social Modemization

S5res edissno
6824702572.
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Inwhich conference 1690 Nations agreed toroll back CO,. methane and nitrous oxide emissions

about 5 percent below 1990 levels by 20127

201

[
160 30 & $5r3¥08° eofisbomron?

I_\.':l

88 1990 Fawd 5 o s CO,, HFS, LD 6F)f 6o SHons el

Options:

Earth Summut

GO@ H5RY)
6824702573.

Copenhagen Conference

SF28FNT d5rSo
6824702574.

Kyoto Protocol

5oed (@Peded
6824702575.

Stockholm Conference

%EE 70 JSr3E0
6824702576.
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Which quality parameter represents the organic load in the water reservior?

P

N& SuochlE® RolRdh JTRErEEDH (@8¢50 dirod
@ =

Options :
Chemical Oxygen Demand
Bardinm s:;%w'.; wEvvelolal
6824702577.
pH
RIS ol mEs
6824702578.
Conductivity
Sossad
6824702579. =
Biological Oxygen Demand
205 wiad 85708
6824702580. =
Sub-Section Number : 10
Sub-Section Id : 68247063
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Who among the following was the founder of Gurukul system of education i India?

tRBEA5 B0 et PHHen QN%?
ve e g

Options :
Rabindranath Tagore
D058 o8
6824702581.
Swami Vivekananda
o DIseol
6824702582. =
Jiddu Krishna Murthy
a9 B0
6824702583. )
Mahatma Gandhi
SorErol
6824702584. <
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‘Which of the following 1s not the goal of higher education in India?

PEEGIS® &8 dumy o0 A0 HQ?

Options
Accessibility
6824702585, CODTE

Quality and Excellence

e D00 ([ErarBss

-

6824702586.



Value based Education

DenSed® 5PES S
6824702587. =

Compulsory and free education

&lé G ol A
6824702588. - =
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The University which telecasts inferactive educational programmes through its own channel 1s:

RrPod B0QuR I8 e AT, YEEFOD @ocﬁﬁ@@ D ITOEhn

Options :

B. R. Ambedkar Open University, Hyderabad

i £.e8.00T5)5 685 DEdoredho, TRETRIRD.
6824702589. = b e

I.GN.O.U.

B0OTOG &I TS DI Twcho
6824702590. -

University of Pune

S Q& drredo
6824702591. N

Amnamalai University

OTNY D DTedDo

6824702592.
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Value education makes a student:

rd ol = vl
== al 2l &, 1=
aTer e a.am“ﬁga:m Zer SBO\GEORD
- - L

=
- -

Options :

Good citizen

&S teorr
6824702593. -~

Successful businessman

De:IDHOHBI T ErSIGenrT
6824702594,

Popular teacher

GrPhtrone IR dinenrT

- -

6824702595.

Efficient manager

B8Lie dhasrEdoenrr
6824702596.
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Which of the following body 1s meant for co-operation and co-ordimation between the union and
states in the field of education?

Options :



NCERT

824709567, P& Doy B0 wOam Bgm Yo - NCERT

NCTE

PEA, SaPTIeH duy odd - NCTE
6824702598.

UuGC

DI DTedFe DLV E-o@ - UGC
6824702599.

CABE

Solfah Do Sesk So$ - CABE
6824702600. ) N

EARTH SCIENCES

Group Number: 2
Group Id : 68247010
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Group Minimum Duration: 120
Show Attended Group?: No
Edit Attended Group?: No
Break time : 0
Group Marks : 200
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No



EARTH SCIENCES

Section Id : 68247010
Section Number : 1

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 68247064
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 682470664 Question Type : MCQ Option Shuffling : Yes Is
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Which one of the following planet 1s exceptional case of Bode’s law:

Options :

6824702601, Mars
6824702602, Saturn
6824702603, Uranus

6824702604, INeptune
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Match the following:

[ Siderite a. Stony meteorite

2. Tekites b. Meteorite conststing of Iron, Nickle, olvine & Pyroxene

3. Aerolifes c. Iron nickel meteorite

4. Siderolites d. Dark glassy matertal formed due to meteoritic impact
Options :

6824702605, 1-C, 2-d, 3-a, 4-b
6824702606, 1-a, 2-b, 3-c, 4-d

1-c, 2-a, 3-b, 4-d
6824702607.

1-a, 2-d, 3-c, 4-b
6824702608.
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Nebular hypothesis states that:

Options :

6824702600, Planets are formed as fragments of extra-terrestrial material

6824702610.



Planets are formed due to condensation of dense gaseous extra-terrestrial
matertal

6824702611, Planets were formed out of a cloud of material blown out from sun

Ly k e o n ' I ' ~ no
6824702612, Planets are formed through disintegration of stars

Question Number : 54 Question Id : 682470667 Question Type : MCQ Option Shuffling : Yes Is
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Mass of an atom of a particular isotope 1s referred as:

Options:

6824702613, atomic number

6824702614, atomic weight

6824702615, ALOIIC Mass

relative atomic mass
6824702616.
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Oldest fossil record dates back to:

Options:



6824702617, 4-0 b.y

3 2
6824702618, ~ 0Db.y

2 7
6824702619. 4.2 b}

1 5 ;
6824702620. = by
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Which 1s the oldest fossil found on earth?

Options :
6824702621. GI'EIIJTE}HTE‘S

6324702622, Echinoids

e824702623. Stromatolites

6824702624, 111lobites

Question Number : 57 Question Id : 682470670 Question Type : MCQ Option Shuffling : Yes Is
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Match the following:

. Cuspate folds 2. folds which exhibit constant profile

2. Similar folds b. Folds i which axial surface dip towards each other

3. Cylndrical folds ~ ¢. Thickening and thinning of beds at crests & troughs

4. Conjugatefolds  d. folds having sharp hinge & smooth sides
Options :

6824702625, 1-C, 2-d, 3-a, 4-b
6824702626, 1-@, 2-b, 3-c, 4-d
6824702627, 1-¢, 2-a, 3-b, 4-d

6824702628, 1-d, 2-¢, 3-a, 4-b

Question Number : 58 Question Id : 682470671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The silicate tetrahedral sharing the two oxygen's and forming an array 1s -----------------

type of silicates.

Options:

6824702629, Phyllosilicates

6824702630, C yclosilicates
824702631 1nosilicates

6824702632, 1 esosilicates



Question Number : 59 Question Id : 682470672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following:

1.  Chromium a. Gabbro

2. Platinum b. Kimberlite

3. Titano Magnetite c. Anothosite

4. Diamond d. Norite and Peridotite

Options :
6824702633, 1-C, 2-d, 3-a, 4-b

6824702634, 1-a, 2-b, 3-c, 4-d

6824702635, 1-C, 2-a, 3-b, 4-d

6824702636, 1-a, 2-d, 3-c, 4-b

Question Number : 60 Question Id : 682470673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Characteristic feature of Rapakivi texture 1s;

Options :



6224702637 Calcic plagioclase 1s surrounded by K- feldspar

e324702638. K- feldspar 1s surrounded by soda rich plagioclase

6224702639, - feldspar 1s surrounded by calcic plagioclase

es24702640. S0da rich plagioclase 1s surrounded by K- feldspar

Question Number : 61 Question Id : 682470674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Presence of Enstatite (OPX) m a metamorphic terrain indicates the beginning of

Options :

6824702641, GGreenschist facies

6824702642, Sanidine facies

6224702643 Oranulite facies

6824702644, EClOgItE facies

Question Number : 62 Question Id : 682470675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:

1. Brachiopoda a. Bellerophon
2. Gastropoda b. Crii
3. Lamellibranchia ¢. Calceola
4. Coenlentrata d. Spondylus
Options :
6324702645, 1-0s 2-¢, 3-d, 4-a
6324702646, 1-8» 2-b, 3-c, 4-d
6824702647, 1-C» 2-8, 3-b, 4-d
6824702648, 18 2-d, 3-¢, 4-b

Question Number : 63 Question Id : 682470676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Exfoliation 1s a form of

Options :
c24702640 L LysIcal weathering

— - ; f_ ‘- 0-
6824702650, Chemical weathering

Biochemical weathering
6824702651. =



faee W o
682470265, V1SS Wasting

Question Number : 64 Question Id : 682470677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A dense mass of water on smoke or dust particles in the lower atmospheric layers constitute

Options :

6824702653, L IOSt

6824702654, V15t

6824702655, L 08

6824702656, Bl1zzard

Question Number : 65 Question Id : 682470678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order (younger to older) of the given mountain ranges;
Options :
ss24700657. ¥ dhyan, Deccan traps, Himalayas, Western Ghats

es24702658. T11Malayas, Deccan traps, Western Ghats, Vindhyan



sararoneso. ¥ dhyan. Western Ghats, Deccan traps, Himalayas.

6824702660, H1Malayas. Vindhyan, Deccan traps. Western Ghats

Question Number : 66 Question Id : 682470679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Neyveli Lignite formation belongs to,

Options:

6824702661, Pl€1stocene

6824702662, M1d - Cretaceous

6824702663. Proterozoic

6824702664. Mid-pliocene

Question Number : 67 Question Id : 682470680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:

[ Juvenile water ~ a. water origmate from precipifation

2. Vadose water D,

—

water found in the pore spaces of a rock

Meteoric water ~ ¢.  Water that 1s formed at the time of consolidation of magma

LA )

4. Comnatewater ~ d. underground water that occurs within the zone of aeration

Options :
6824702665, 1€ 2-d, 3-a, 4-b

1-a, 2-b, 3-c, 4-d
6824702666.

1-c, 2-a, 3-b, 4-d
6824702667.

6824702668, 1-a@, 2-d, 3-c, 4-b

Question Number : 68 Question Id : 682470681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Identify the correct cause for the occurrence of Tsunami.
Options :

6824702669, 1 sunami which occurs in oceans 1s due to high tidal effect

6824702670, Lsunami which occurs in oceans 1s due to floods

y : F . =1 ~ - 1 ki i - . g
ca2a702671. Lsunai which occurs i oceans 1s due to large earth quakes under the ocean



6824702672, Lsunami which occurs in oceans 1s due to ocean surface winds

Question Number : 69 Question Id : 682470682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Volcanism is commonly associated with which type of plate margins,

Options :

£ o diver ‘O]
c04700673. Arlong divergent Plate margins

o TeTo o
6824702674, LAIGHE convergent plﬂte margliis

es24702675. Along transform plate boundaries

Alone ero lVere anst i
sa24702676, -long both convergent plate margis and divergent transform fault margins

Question Number : 70 Question Id : 682470683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Match the following;

. Exotic errains a. 15 the opening of new ocean basin by rifting

2. Rungoffire b. 15 the process where confinents grow larger.

3. Wilson cycle c. ate small fragments of crust that are welded together.
4. Contmental accretion  d. A belt of active volcanism around pacific



Options :
6824702677, 1@, 2-b, 3-¢, 4-d

6824702678, 1-C, 2-a, 3-b, 4-d

6824702679, 1-@, 2-d, 3-c, 4-b

6824702680, 1€, 2-d, 3-a, 4-b

Question Number : 71 Question Id : 682470684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
In the stratosphere, the lapse rate 1s positive because

Options :

6824702681, Diatomic llltI'OgEH absorbs solar radiation

6824702633, Greenhouse gases absorb the long wave radiations from the earth’s surface

6824702653, Stratospheric aerosols reflect the mcoming solar radiation

e824702684. S0lar ultraviolet radiation 1s absorbed by ozone molecules

Question Number : 72 Question Id : 682470685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0
Upwelling of deep water:
Options :

6824702685, Provides nutrient rich water to marine plant life
6824702636, Moves very rapidly relative to surface currents

_1-' 1-} _' & T T a
6824702687, = Al be found at surface convergence zones

6824702688, 1S 11Ot @ thermohaline circulation mechanism

Question Number : 73 Question Id : 682470686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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What general circulation wind belt 1s the place of origin for hurricanes?
Options :

T .
6824702680, WV esterlies

6324702690, Doldrums

6824702691 L1ade winds

6824702692, Horse latitudes

Question Number : 74 Question Id : 682470687 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Assertion (A): The scale of horizontal mixing 15 greater than that of vertical mixing in the oceans.
Reason (R): Partly because of their great width: depth ratio, and partly because density

Siratification inibits vertical mixing
Options:

6824702693, Both Assertion and Reason are correct and reason erlﬂIIIS COI’I’ECT]}/’ assertion

6824702694, Both Assertion and Reason are mcorrect and reason does not EX[Jlﬂlll COITECTI}" assertion

! g . : B ]ill;r i
sa2a702605. DO Assertion and Reason are wrong

6824702696, Assertion 1s correct but, Reason 1s mcorrect

Question Number : 75 Question Id : 682470688 Question Type : MCQ Option Shuffling : Yes Is
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The tide- r1sing, or fide generating, force 15 proportional to the difference between.

Options :
ss24700607. - cntrifugal force and gravitational force

Centripetal force and gravitational force
6824702698, :

6824702699, Gravitational force and frictional force



Wind generated force and traction
6824702700. =

Question Number : 76 Question Id : 682470689 Question Type : MCQ Option Shuffling : Yes Is
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The property of Double refraction 1s well exhibited by the mineral:

Options :

6324702707, QuArtZ

6824702702, Orthoclase

6824702703, Albite

6824702704, Calcite

Question Number : 77 Question Id : 682470690 Question Type : MCQ Option Shuffling : Yes Is
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An example for mix crystals or Solid solutions formed by crystallization of binary magma:
Options :
es24702705. Flagioclase Feldspars

e324702706. SAMphiboles



6324702707. Mi1ca minerals

6824702708, S1lica minerals

Question Number : 78 Question Id : 682470691 Question Type : MCQ Option Shuffling : Yes Is
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Match the following;

1. Triclmic System a. Al the three crystallographic axes are
Equal in length and make an angle of
90° with each other

2. Tetragonal System b.  All the three crystallographic axes have
different lengths and make angles of
90° with each other

3. Cubic System c. All the three crystallographic axes have
different lengths and axial angles have
different values other than 90°

4, Orthorhombic System d.  Two out of three crystallographic axes
are equal 1n length while third axis has
a different length and make an angle of
90° with each other
Options :

1-b, 2-a. 3-c, 4-d
6824702709.

N, 2 ;
-c, 2-d, 3-a, 4-b
6824702710. I-c, d’ a, 4-t



1-d. 2-b. 3-c. 4-a
6824702711,

o Bl L F
6824702712, 1-a, 2-¢, 3-b, 4-d
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Match the following:

1. Hypersthene Granite
2. Garnet and Pyroxene

3. Quartz - Felspathic or Pyroxene

4. Quartz, Garnet, Sillimanite and Graphite

Options:
6824702713, 1-, 2-¢, 3-d, 4-b

6824702714, 170> 2-d; 3-a, 4-c

AN R o A
eg24702715. 1-d. 2-b. 3-¢, 4-a

6824702716, 1-C- 2-a, 3-d, 4-b

d.

Granulites
Charnockites
Khondalites

Eclogites

Question Number : 80 Question Id : 682470693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The Plate boundaries where new Crust 1s generated as the Plates pull away from each

other are known as:

Options :

Convergent boundaries
6824702717. €

682470271, D1vergent boundaries

6324702719, 1 ransform boundaries

Oceanic-Continental Convergence
6824702720, =
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The Neogene rocks of the Himalayas, developed 1n a long narrow depression 1 front

of the r1sing mountains, are referred fo as:

Options :

6824702721, Sirmur Group

e g
s82470272 DN Group

6824702723, S1walik Group

6824702724, SUrma Group
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Match the following:

1. Horizontal axial plane a. Overturned fold

2. Vertical axial plane b. Recumbent fold

3. Sharp and angular hinges c. Symmetrical fold

4. Inclined axial plane d. Chevron fold
Options :

6824702725, 1-¢, 2-a, 3-b, 4-d

l-c, 2-d, 3-a, 4-b
6824702726.

l-d. 2-b. 3-¢, 4-a
6824702727. |

1-d, 2-a, 3-b, 4-c
6824702728.

Question Number : 83 Question Id : 682470696 Question Type : MCQ Option Shuffling : Yes Is
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Pangea was a supercontinent that existed during the eras.




Options :

6824702729. Middle Proterozoic

T ¥ 0 - S
s824702730. O PPEL Proterozoic

ss24702731. Late Paleozoic and early Mesozoic

ATC i) Te
6824702733, Archaeozoic
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Shells with first Ammonitic suture appeared in

Options :

6324702733, Late Triassic

6824702734, A€ Permian

6824702735, Late Devonian

6824702736, Late Jurassic

Question Number : 85 Question Id : 682470698 Question Type : MCQ Option Shuffling : Yes Is
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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One of the plate of the apical disc i an Echinoid shell 1s perforated, this plate 1s
Known as:

Options :

6824702737, Ocular plates

Med reproach plate
6824702738,

6824702730, GeNItal plate

ss24702740. - A11bUlacCTa plate

Question Number : 86 Question Id : 682470699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The plant fossil Gangamopteris indicates

Options :

6824702741 Warm climate

e324702745. Glacial to cool temperature

6824702743, Arld climate

6824702744, Mo1st to hot climate
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Geo-chronostratigraphic unit that corresponds to Epoch 1s

Options :
6824702745, SEI1ES

Stage
6824702746. =

6824702747, SYSteI

6824702748, 20N
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Sitampundi Complex is famous for ----------=-===-==------

Options:

6824702749 Anorthosites

6824702750, Magnesites

6824702751, Granite



6824702752, Chamockites
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In the ocean seasonal thermocline develops in the ---------------------

Options :

6824702753, LOW latitude during summer

i " : 1. G_ .._- =
6824702754, Mid latitude during winter

6824702755, High latitudes

ca2a700756. Mid latitudes during summer
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The earliest known supercontinent was

Options :

6824702757. Pa pacd

6824702758, Riodinia



6824702759, v aalbara

6824702760, C OlUMbIA
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The early atmosphere was dominated by

Options :

6824702761, OXYyZen

Water vapour
6824702762.

6824702763, Carbon di oxide

Nitrogen
6824702764. =
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The amount of energy released when an electron is added to a neutral atom to form a

negaive 1on is called as




Options :

6824702765, Llectron affinity

6824702766. Electronegativity

e824702767. Lonization energy

6824702768, Metallic character
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Geochemical processes operate only because of a flow of energy from a
nfensity

Options :

6824702769, LLOWET to a higher

6824702770, Remains Constant

.[}- E A7 =
6824702771. Higher to a lower

6824702772, Erratic Manner
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The ability of an environment to supply electrons to an oxidizing agent, or fo take up
electrons from a reducing agent 1s termed as:

Options :

oqc1tv
6824702773. Fll.:.ﬂL 1t}

6824702774, R€dOX potential

c824702775. O1DLs free energy

Activity coefficient
6824702776. *
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In porphyritic texture, the Phenocrysts originated at depth under condittons of slow

cooling belong to the:

Options :

es24702777. Late stage of crystallization

; o ~ g li.- 4 = : .1,' -7 e
s2470277s. Stmultaneous crystallization with groundmass

e824702779. Late stage of crystallization after the formation of groundmass



sh s N r T = '
6824702780, Early stage of crystallization
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The 1gneous ore mmnerals which have crystallized from a residual magma towards the
close of the magmatic pertod are termed as:

Options :

Late magmatic deposits
6824702781, <

c82470278,. LArly magmatic deposits

6824702783, Hiydrothermal deposits

6824702784, Contact metasomatic dEpOSlTS
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The most suitable reservoir rock for the formation of petroleum o1l pool 1s

Options :

c247027gs, Sands and sandstones



] T
6824702786. C lﬂ}

6824702787. Shale

6824702788, Slate
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Gondwana formations in Telangana region are enriched with

deposits
Options :

6824702789, Petroleum

6824702790, 2Natural Gas

6824702791, Coal

6824702792, 110N
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Match the following:

1. Pb-Zn-Ag ores a. Mo
2. Vein type Gold ores b. Hg
3. Epigenetic sulphides C.. AS
4. Porphyry — Copper deposits d. Se
Options :
1-a, 2-d, 3-b, 4-c
6824702793,
1-c, 2-a, 3-d, 4-b
6824702794
6824702795, I-d, 2-b, 3-c, 4-a
1-d, 2-a, 3-b, 4-¢
6824702796.
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Lithosphere includes

Options :

6824702797. Continental crust and oceanic crust

Mantle and outer core
6824702798.

6824702799, CTUSt and mantle



Crust and part of upper mantle
6824702800.
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Shield+ Platform =

Options :

6824702801, L acles

6824702802, Mobile belt

6824702803. Craton

6824702804, Shield Nucleus
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Which of the following is incorrect?

Options :

6824702805, Mobile belts are elongated areas of mountain building activities

824702806, Mobile belts are located near margins of continents



6824702807, Mobile belts are synonyms to mountain belts

Most belts show a linear central region of thick multiply deformed metamorphosed

6824702808. 10cks
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Neap tides occur when earth, sun and moon form an angle of

Options :
68247028009. 60 deglee

12 -
6824702810 1 20 degree

L -
6824702811. 20 deglee

6824702812. 20 degl .

Question Number : 104 Question Id : 682470717 Question Type : MCQ Option Shuffling : Yes Is
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How many glacial epochs are recorded in total during the Quaternary period?

Options :

o
6824702813. 13



6824702814, 13

6824702815, 17

L
6824702816. 19
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The spatial resolution of IKNOS Satellite data 1s

Options:

6824702817. 2mX 2m

682470287, 1M X 1m

Smx Sm
6824702819.

6824702820, ~ 1 X 111
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The Bhakra Nangal Dam 1s constructed on the terrain




Options :

6824702821, SChIStS

6824702822, QuUArtZItes

N S1O
6824702823. Sandstones

6824702824, ATANITES
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In geochemical surveys an element measured in order to detect an ore body 1s termed as

Options :

6824702825, Pathfinder element

Anomalous element
6824702826.

ca24700807. Lreshold element

6824702828, Indicator element
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Ghyben-Herzberg equation explains relation between:

Options :

6824702829, Fresh and salt water

6824702830, L OTOSILY and permeability

c24700831. Lermeability and transmissivity

e82470283. LITINSIC permeability and porosity
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Residual hill in the desert area 1s known as

Options :

6824702833, 1nlier

T
6824702834, L1SEIDETE

Playa
6824702835.

6824702836. Pediment
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Match the following:

Gases i Atmosphere Planet
l. Hydrogen, Helium a. Venus
2. Hydrogen, helium, Ammonia, Methane b. Mars
3. Carbon dioxide, Ammonia, Methane ¢. Saturn
4. Carbon dioxide and Nitrogen dioxide d. Jupiter
Options :
1-d, 2-c, 3-a, 4-b
6824702837.
6824702838, 170> 2-C; 3-d, 4-a
1-d, 2-b, 3-c. 4-a
6824702839.
= Fom o 1-¢
6824702840, 1 70» 278, 3-d. 4-C
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Match the following;

Wind Characteristics Name of Winds
| Bring bitterly cold conditions a. Chi nook winds
2. Most regular and constant b. Polar Easterlies
3. Snow Eaters ¢. Trade winds
4. Stormy and powerful in S. Hemisphere d. Westerlies
Options :
1-d, 2-a, 3-b, 4-c
6824702841

6824702842, 1-C» 2-a, 3-d, 4-b

1-a, 2-c, 3-b, 4-d
6824702843,

6824702844, 1-C> 273 3-b, 4-d

Question Number : 112 Question Id : 682470725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:

Hazards Name of Sea
1. Cyclone a.  South China Sea
2 Tomado b. Arafura Sea
3. Typhoon C. Gulf of Mexico
4. Willy Willy d. Bay of Bengal
Options :
1-a, 2-d, 3-c, 4-b
6824702845,
6824702846, 1-d: 2-2, 3-b, 4-c
1-c, 2-d, 3-b, 4-a
6824702847.
6824702843, 1> 270, 3-d. 4-a
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Match the following:

Animal Region / Country
1. Kangaroo a. Tundra
2. Penguin b. Savana
3. Zebra c. Australia
4. Reindeer - d. Antarctica
Options :
6824702849, 1 3 2-b, 3-c, 4-d

6824702850, 1-d, 2-¢, 3-a, 4-b

6824702851, 1-C> 2-d, 3-b, 4-a

1-b, 2-a, 3-d, 4-c
6824702852.
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Assertion (A): The Regur soil of the Deccan Plateau are black in colour.

Reason (R): They contain a lot of humus.

Options :

6824702853, Both A and R are true and R 1s the correct explanation of A.



6824702854, DO A and R is true but R 1s not the correct explanation of A.

6324702855, A 1s true but R 1s false.

6324702856, A 15 false but R 1s true.
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Assertion (A): Assam has the largest area of canal irrigation in India.

Reason (R): The Assam valley 1s flat and the Brahmaputra carried enormous volume of weather.

Options :

6324702857, Both A and R are true and R is the correct explanation of A.

Both A and R ‘are true but R is not the correct explanation of A.
6824702858.

6824702859, LA 1s true but R 1s false.

6824702860, A1 18 false but R is true.
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The requirement for a system to be liner. 1s that it should have mathematical property of
Options :
6824702861, Ticterogeneity and additivity

6324702862, Heterogeneity and non-additivity

6824702863, Homogeneity and additivity

6824702864, Homogeneity and non- additivity
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In Nyquist sampling theorem. a sampling rate of 2000 samples/ second requires that the

analog singal should be composed of frequencies below

Options:
6824702865, 1000 cycles/ second

'.} T £ -I.II o
6824702866, 2000 cycles/ second

6824702867, 3000 cycles/ second

6824702868, 1000 cycles/ second
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Filters having an Infinitely long impulse response composed of sinusoids and
exponentials are called

Options :

6824702869, Continuous filters

6324702870, Discrete filters
6824702871, Recursive filters

6824702872, LNON-TECursive filters
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Deconvolution is best understood in
Options :

6824702873, 11ne domain

6324702874, Frequency Domain

6324702875, Both in time and frequency domain

Neither in time domain nor in frequency domain
6824702876, .
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The 3D Laplace operator can be described as the

Options :
6824702877, convergence of gradient operator

6324702878, Divergence of the gradient operator

6824702879 Lagrange Function

6324702880, Gradient of scaler field
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: B . ;
The expression "y xE = ST " is an expression of one of the
Options :
6824702881, Laplace’s equation

6324702882, P0Isson’s equation

6824702883, Maxwell’s equation



6824702884, AUSS’S equation
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In the light of Green’s theorem, which of the following statements is false
Options :

A maximum or a minimum value of a harmonic function occurs only at a boundary of
6824702885, e region.

If a function 1s harmonic m a region and 1s constants on the surface, then it is constant
6324702886, troughout the region.

If a solution of Laplace equation is found and has prescribed values on the boundary,
6324702887, then the solution is not unique

If two functions are harmonic in a closed region and have the same normal derivative
6324702888, At the boundary, then they differ by a constant.
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which one of the following is an example of Newtonian potential

Options:

6324702889, Cravitational Potential



6824702890 Potential at a point due to a line source

6824702891, Potential at a point due to a dipole source

6324702892, Electro-kinetic potentials
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Simpson’s rule 1s obtained by simplest kind of

Options :

6824702893, EXtrapolation on subintervals of decomposition

6824702894, terpolation on subintervals of the decomposition

6324702895, Obtaining moving averages of the subintervals of the decomposition

6824702896, Reversing the subintervals of the decomposition
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In numerical differentiation

Options :

6824702897 lruncation errors and round-off errors are not related



6324702898, lruncation errors decreased as the round-off errors are increased

6824702899, Truncation errors are increased as the round-off errors decreased

6824702900 Truncation errors increased as the round-off errors are increased
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Which of the following shows a decreasing release of energy during an earthquake?

Options :

6824702901, L lrust, Strike - slip. normal

6824702902, 1Normal, thrust, strike-slip

6824702903, Strike-slip. normal. thrust

6824702904, Thrust. normal. strike-slip
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The amplitude of ground motion generated by an earthquake of magnitude 8 1s greater
than that of an earthquake of magnitude 5 by a factor of -=--------------



Options :

6824702905. 1000

00

)

6824702906.

6824702907. 100

-

6824702908. >
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In a gravity survey, if the observation pomt lies below datum plane, then for gravity data
(SO 1) | E—

Options :
6324702909, Free-air and Bouguer correction are negative

6824702910. Free- air and BDllgﬂE‘I’ Ccorrection are positive

6824702911. Free awr correction 1s positive and BDllgﬂE‘i’ COITecCtion 1s neganve

6824702912, Free awr correction 1s neganve and Bi}llgllfi'l‘ COITECTION 1S POSINIVE
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Assertion (A): Sensitivity of the magnetometer 1s the important criteria in mineral
exploration to measure magnetic field.
Reason (R): Flux gate magnetometer sensitivity is achieved by its detector design.

Options :
6824702913. Both ‘A’ and ‘R’ are true

6824702914, A’ 1s true but ‘R’ 15 false

6824702915, A’ 1s false but ‘R’ 1s true

6324702916, Both “A” and ‘R’ are false
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Arrange the following electromagnetic method in the decreasing order of depth of
investigation

(P) Time-domain EM method

(Q) Magnetotellurie method

(R) VLF Method

(S) Ground penetrating Radar Method

Options :

6824702917. Q°R=P=S

Q:Z::P::::R:::»S
6824702918. —

6824702919, £~ Q757K



6824702920, >~ QP=R
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Which one of the following curve types shows both “equivalence™ and suppression
problems 1n resistivity data interpretation

Options :

6824702921, HK-type

6824702922. HQ-type

H- type
6824702923, Q YP

6824702924, KH-type
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In what circumstances, the migrated refraction seismic section will be the same as the
unmigrated one?

Options:
6824702925, Vertical interfaces



6824702926, Inclined interfaces

6824702927. Undulated interfaces

6324702928, Horizontal interfaces
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PKIKP i1s a seismic body which travels through--------------

Options:

6824702929, Upper mantle

6824702930, Wpper and lower mantle

6824702931, Mantle. outer core and mner core

6824702932, Mantle and outer core
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The logging technique that uses non-conductive  drilling fluids 1s ==-------

Options :

6824702933, OF logging



. i
6824702034, Induction logging

N -
6824702035, Resistive logging

1 ' oo
6824702936, Radiometric logging
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Match the items of Group- I with those of Group- II

Group -1 Group - II
1. « Caliper log a.  Permeability
2. NMR log b. Resistivity
3. Neutron log C. Diameter
4. SPlog d. Velocity
e. Porosity
Options :

6824702937, 1-C, 2-a, 3-¢, 4-b

6824702038, 1-C» 2-d; 3-b, 4-¢

6824702930. 1-d. 2-b, 3-a, 4-¢

6824702940. l1-a, 2-c, 3-b, 4-d
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Why do clouds represent a source of heat for the atmosphere?

Options:

6324702941, 1hey increase the absorption of solar radiation

6324702942, Lhey conduct heat from the earth's surface

6324702943, Cloud formation releases latent heat to the air

6824702944, Melting ice crystals in the cloud absorb heat

Question Number : 137 Question Id : 682470750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

1. Wind speed a. Isostere
2. Pressure b. Isotach
3. Precipitaion C. Isohyet
4. Atmospheric density d. Isobar
Options :
b -q 3o A=
6824702045, 170> 2-2, 3-¢, 4~d

6824702946, 19> 276, 3-b, 4-a



1-d, 2-a, 3-c, 4-b
6824702947.

6824702048, 1~ 2-b, 3-c, 4-d
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Assertion (A): Jet streams are narrow, vartable bands of strong air currents encircling the
globe, at high attitudes.

Reason (R): The subtropical westerly jet stream is stronger over peninsular India during
the summer monsoon months.
Options :

6824702949, Both (A ) and (R) 1s correct

6324702950, Both (A ) and (R) is false

6824702057, (A) 1s right and (R) 1s wrong

6824702952 (A) 1s wrong and (R) 1s right
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Identify the non-coastal current



Options :

6824702953, Somalia current

6824702954, GulfStream current
6824702955, Kuroshio current

6824702956, orth monsoon current
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The wave reflection coefficient is the ratio of.

Options :

6824702957, cident wave amplitude and reflected wave amplitude

6824702958, Reflected wave amplitude and incident wave amplitude

6824702959, 1ransmitted wave height and reflected wave height

Reflected wave height and Transmitted wave height
6824702960. % 8
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Which of the following statements does not accurately describe water molecules?
Options :
6824702961, £ach of the hydrogen atoms is linked to the oxygen atom by a covalent bond.

Hydrogen bonds link hydrogen atoms in one water molecule to oxygen atoms in

6824702962 another Molecule

Oxygen atoms in a water molecule are negatively charged and hydrogen atoms

6824702963, A€ positively charged

The water molecule has a linear arrangement of atoms because the hydrogen

atoms repel each other.
6824702964,
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If the ocean is in geostrophic balance.

Options :
6824702965, Lhe currents will vary with time

6824702966, 1he currents will be in steady state
6824702967, Non-linear terms will be large

6824702968, R0ssby number will be large
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Which of the following statements on sediments is not correct?

Options :

6824702969, The majority of marine sediments are ferrgenous

6824702970, Coarse sediments are concentrated in the abyssal plains

Most of the sediment at the outer edge of the shelves was deposited during the

6824702971, 1ast1ce Age

Rapid accumulation of sediments may result in slope failure. turbidity currents,

6824702972, And Turbidities
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The ocean circulation 1s;
Options :

Asymmetrical. consisting of intense western boundary currents such as the Gulf
6824702973, Stream and weaker recirculating flows in the centres of the ocean basins



' Asymmetrical. consisting of intense recirculating flows in the centres of the ocean
6824702974, basins and weaker currents such as the Gulf Stream

Symmetrical, consisting of mtense recirculating flows in the centres of the ocean
6824702975, And strong currents such as the Gulf Stream.

None of the above.

6824702976.
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Assertion (A): Ekman’s quantified surface wind driven currents in the ocean.

Reason (R): Limitation of his theory was the assumption of homogeneous ocean. He
Tanored pressure gradient terms in equations of motion,

Options :

6824702977, (A) is true but (R )is false

6324702978, (A) 1s false but (R )is true

6824702979, (A) and (R ) are false

(A) and (R ) are true
6824702980. ;
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Strong heating of the ground by the sun associated with thunderstorms?

Options :

6824702981 Leads to greater mstability

6824702932, Reduces the relative humidity

6824702983, Reduces the dew point

6824702934, Increases the pressure gradient
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An adiabatic process is one in which the

Options :

6324702985, Altitude of the air parcel remains constant

6824702986, Heat exchanged with the surroundings is zero

6824702987. Pressure on the air pﬂl’CEl remains constant



6824702988, Tempemmi € remains constant
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Evaporation of ground water causes the formation of.

Options:

6824702989, Laterites

6824702990, Alkali solis

6824702991, Sink holes

6824702992, Fodsol
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Sound waves:

Options :

6824702993, Travel faster in water than air

6824702994 Lravel faster in warm water.



6824702995, Lhat originate in the sofar channel remain in that layer

6824702996, <11 the options are correct
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The Coriolis Effect results from:

Options :

6324702997, The gravitational pull of the sun.

6324702998, LOWET rotational velocities at lower latitudes

6824702999 Lower rotational velocities at higher latitudes

6324703000, All are elements of the Coriolis effect.



